o0 O0O0o0o0oOoO #80 2004-7-20 00

23 0ODOO00OOO0OOO0ObOOO0bOO0bOoO0DbOn

uboooobobooobOoboooobobobooboOoboooobon

00 2.14 000000 LOOOOO SO0O0O0OO0O0O0OO0OO0O0OOOO0O0O0 (orthonormal sys-
tem) 00O 0O:

1 xxeb8

(z,z)

(g,y) = 0 xyeSz#y

000 L=cC"000ey,...,e, 000000000000 8 = {ey,...,e,} 0000000
00O

0215 L={feCR,C)| fO000 100000} 0000e(z)=¢* 0000000
S ={eo(x),ex1(x),...,exn(x),...} OODO0OOODOOOfeLOOOODO

27
(fiew) = | fla)e Fodx
0

O f0kO0D000DO0O0O0DOODODOOODOO
T = {1,co82mx, cosdnx,...,cos2rkx, ..., sin2wx,sindrx, ..., sin 2wk, ...}

0 LO0000o0noouoogferonooon
2m 2m
(f,cos2mkx) = f(z)cos2nkadr  (f,sin2nkx) = f(z)sin 2rkadx
0 0
0 fO00000D0O0OO0O00DOO

o000 26 SOO0OOOOOOO11000000O0O0O0O00O
oooo 2.7 «,...,z, 00000000000

s + -+ @l =l |+l

0000000000
0000 2.8 [00000000]S = {2,2s...,#,}) 00000000000000000
zeL 000

(2, 21)* + (2, 22)]* + - + (@, 2,) < 2]

gogbgoboobodld =0 =,...,z, DOOOOOOOOOO0OO00OO

000000000o0oooooooU http://math.cs.kitami-it.ac.jp/ kouno/kougi.html 0000000
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00 2.16 S = {v1,vs,...,v,,..} 00000 LO 100000000000000000 T =
(@1, @s,....2,,...} 0000000000:
' gpoo

(1st step) ; ¢ =
’ o1
)

[ ]
(n—th step) ; z1,...,2,, 000000000000 000x, = v, — (Vp, 1)L — -+ —

wl

(Vp, Tp—1)Tr,—1 0000, = ﬁ oooo
wn

(2nd step) ; b =vy — (v, 1)z D00 0@y = ooog

00 0000000000000 n000 |2 =100 (®p,:)=0(=1,...,n—1)00
00000r=100000000,=k00000000000},, = vkt — (Vks1, @11 —
= (Vg TR)Ty 000 @ < E4+10000 (2,1, %) = (Vs Ti) — (kg1 1) (21, i) —
s = (Vg ) (T, ) — - — (Vpgn, k) (TR, ) A1 000 ;00000 (xj,2;) =0000
(1 ®i) = (Vig1, i) — (Vig1, i) (2, 2) = (Vig1, Ti) — (U1, 2) =0000 k+10000
pgoooobooo 1D[lDDDDDDDDDDDDDDDDDDDDDD:B%DDDDDDDDD
O«z;=00000000000000000000 ioooooooo i

LO00000000000000000000000 (orthnormal basis) 00000000
gogbooboobooboobooboboboboobooboobonboo

00 217 LOOO0OO0OOO0O0OOSO00O00OO000OO0O00O0O0
St={xzcL| 000yeSOO00 (x,y)=0}

0OsSO000000o0ooo

000029 00000S'0LO0O0CO0O0O0COO0O0O0O0

00 218 MOODODODOODOOODOO LOOODOO0DODOOO0OODO0O0OO0O00

(1) L=MoM+-O0DOODD

(2) (MH)*=MOOO0O

00 w,...,v,0 MOOODOOOOOOO0OO0O0000 vggs,...,v, 0000 LOOODOOOO
000000 2160000000 LOO0O0O0O0OO0 @y,...,#,, 00000000000000
z,...,z,0 MOODODOOOOOOOO0O0O0O0O0000 L=M+M+00 MaM*+={0}0O
00000 L=MeM+O0ODO0OO0O@ O @oooool

0000 210 M,M,00000000000 LOOO00O0O0O0000000000

(1) M; 000000 M, 00000O0000000000M,0 M,000000000M,; 1M,
00000 MidlMy<= M, C Mj-<= M, C M- 000000

(2) My C M, 00O Mg C M
(3) (M1 + Ms)*™ = M{-n M-

(4) (MyN M)t = M- + Ms-
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goooooooobo roooooooooooboooooboboooooboboooooboooooD
000OLO0O0 LO0 (D00 LO00o0UO)00o0o roo0oorooooooooooo L
000000 T*0TOO0OO000 (adjoint mapping) D00 : 000 x,ye LOOO

(T(x),y) = (z,T"(y))

goooon

o0 2.19 S={x,...,z,} 0 LOOOO0O0O0OO0D0O0O0O0O0O0O0O0OO00 x,ye L 000
(@.y) = (¥5(), B5(y))

000000000 (v,y)0 LOOOO(®s(x), ®s(y) 0 KrOOODOO000

00 x=xz121+ - +TpTp, ¥y = 11+ +ypx, 0000 Og(x) = L Ps(y) =

Y1
Yn
1 Zyi(mlami)+’ : '+xnzyn(mnvwi) =z1y1(x1, 1)+ 2 Yn (T, Tn) = T1Y1+ -+ Trln
i=1 i=1
Z1 'A%
ooooog (Ps(x),®s(y)) = -, : =ny+--+z,y, 000000000

oo il

00 22070 LopopoooooodS={x,...,,}0 LOOOOOOOOOOOTO SO

00000000 ADDOA*=(A) 0000S000 A*000000 LO0000 770 7T
000000000000

00 0000000 w,ve K*O00O0O (Au,v) = (Au)’ 5 = uTATT = uATv = ul A% =
(u,A*v) 00 0000000000000000 ¢,y L 00000 21900000

(T(x),y) = (ps(T(x)),®s(y)) = (APs(x), P5(y))
= (Ps(x), A" Ps5(y)) = (Ps(x), T (Ps(y)))
= ((L’,T’(y))

oooooo i

00 221 7T:L—LO000000000T=T-0000000000000O0Q0 (Hermitian
transformation) 000000000 x,ye LOODO

(T(2), T(y)) = (2, y)
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000000000000 00 (unitary transformation) 00000 K =ROOO0O0OO0O
(orthnormal transformation) 0 0 O O

0000 ADOO A= A*000000000000OO (Hermitian matrix) 000000
A*A = F000000000000O0O (unitary matrix) 000000 K = ROOOO0OO
ATA=FD000000000 (orthnormal matrix) 00 00

0000 211 0OOOOTOOOOOOOOOOOODOOD AOOOOOOOOOO
()TOODOOOODOO < A00O0OUODOOO
(2)TO0D0O0O00D00 < A0DDOODOOOO

go0o000o0o0oOoDOoooOSOO0000D0D0 LOO00DOO0000D00xe LODOO v =
dg(x) 00000
Tx)=Xx (z#0)<=Av=XM (v#0)

0000000000 000000 ANO AeKOOOOOUOOOO fa(t)=det(A—tE)=00
000000 AQ0DOOOOOOOOOOO0OO0OO0OO0OOOOOOOOOOOOOoOOo

00 222 0000000 AOOO f4(¢) =000 N000000000D0O0O0O0OOODOO AO
gboooooooboo

0000000o0o0o0o0oo0ooOo L£{o} 000000000 TOOOOOOOOO
gboooopboooboooo

oo A0 fat)=0000000C"00000000O0O000O0O0O £U0O0OOOOODOOO
(Az,z) = Mz, z) = Az, z) 0000 (Az,z) = (z, A*z) = (z, Az) = (x, \x) = \N(z,z) 0000
(z,z)#000 A= 00000 1

00 2.23 A, 0 LO0O0O0O0C0O0O0OO0TOO0O0O0O0OCO0O000:=1,2000 ;0 XN
000000000000000«2 0 2, 00000000 (x1,22)=00000

oo (T(ml,CL‘Q)) = (/\1%1,%2) = /\1(531,.’.62) oo D(T($1),w2) = (iI)l,T(.’.UQ)) = (m1,>\2$2) =
)\Q(Qil,wg) oo ()\1—)\2)(1‘1,332):0DDDD)q—)\Q#ODD (ml,wg):ODDDD I

0022300 A,..., A0 7TO0000000000O0EMN)O A,O00000000000O0
E\) & & E(\)
0000000 LO0OO00000000000000000000000000000000
00 2.24 A\y,..., A0 LOOODODOOO0O0OO7TO0000000000000000O
L=EMN)® - @®EM\)
0ooooO

00 M=(EM® --eEN)LD0000 L=EXN)® --eE)N)eM 0000000000
M={0}0000000000 M#£{0}000000000 T(M)={T(y)| ye M}C MO
000y 0000 T(M)0D00000000 yeMODOOOO ¢ =T(y)0000000y0O0
ye(E(\)®--GE(\)t=M00000000000 € E\)e---eE\,) 000 (y,z)=0
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00000000x =2 4+, (¢, € E(\) 000000000 (y,z) = (T(y),z) =
(¥, T(x)) = (4, T(®1 + -+ n)) = (¥, T(@1) + -+ T(@n)) = (y,T(@1)) + - + (4, T(0)) =
(y, \Mx1) + -+ (Y, ) = My, 1) + -+ A\ (y, @) = A1 -04+---+ X, 0=000000
y e MODOODOOOTO MOOODOOOO T =T, 000070 MOOOOOO
00000000 #,yeMOOO (Ty(x),y) = (¢, Ti(y) D00D0000000000000
000000 2200 7,000000000007, 00000 T0000000000000
0)0000000000000000000000000000«eMO AD0000TO
000000000000 z€E(\)DD00D0O0O0O0CO 0

gbooooboboobooboboooobooboooooboo

022570 LO0O0O0O0O0O0O0ODOOO0 LOOOOOOOOO sOooOoOooOoOooooOoo
gobooooogoo

00 0000000000000 0D0000000000000000000000000
oooooooo i

000000000000 00000000

0226 0000000000000000000000000

00 »00000000 A0 C"00000000O00O0O0O0O0OO0O0O0O S={x1,...,2,}
0000U=(x;, -z, 0000 UODO0O0O0ODODODOOO0O0DUAUDOOOOCOOODO N

0227 0000000000000 O0booboooon

00 n»000O00 A0 R"O0U0DOO0O0OO0OO0OOCOOO0OOOOOOOO S=A{=z,...,z,} 0000
O=(x;---x,) 0000 00000000000 *A0o000000CDO N
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